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F An Abbrewated Table of
Trigonometric Identities

1. sin(a £ B) = sinacosB £ cosasinf

2. cos(a £ B) = cosacosfB F sinasinf

: . L atp a-—PB
3. sina + sinf3 = 2sin 3 cos —

4. sina — sinB = ’Zr:os(a 2 B) sin(oJ ; '8)

5. cosa + cosB = Zcos(a ; B) cog(i_;_ﬁ)

6. cosa - cosfp = =2 sin(aE ; ‘Bﬂ) sin(ar e B)

7. 2sina sinf3 = cos(e — B) — cos(a + ()
8. 2 cosa cosf = cos(a — B) + cos(a + B)
9. 2 sina cosB = sin(a + B) + sin(a — B)
10. sin2« = 2 sina cosa

11. cos2a = 2 cos’a — 1 = 1 — 2sin‘a
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12. cosa = ) + 5 cos2a
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13. sin“ae = 575 cos2a

tana + tanf3

14, tan(a = B) = mﬁ

_ 2 tana
15, tan2e = 1——
— tan‘«
759




